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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — 11
COMPUTER INFORMATION TECHNOLOGY
(Old Scheme) Time : 2 Hours
Maximum : 60 Scores Cool-off time : 15 Minutes
/ General Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
A. Answer any 5 questions from 1 to 9. Each carries 1 score. Sx1=5)
1.  Which device allows you to enter data and instructions into a computer ?
(a) Input device (b)  Output device
(c) ALU (d CPU

2. The main memory of a personal computer consists of
(a) RAM only (b) ROM only
(c) Both RAM & ROM (d) Cache memory

3.  CPU stands for
(a) Control Processing Unit (b) Central Programming Unit

(c) Central Processing Unit (d) Control Programming Unit

4.  In motherboard information between components travels by
(a) Flash memory (b) CMOS
(c) Port (d) Bus

5. Full form of DBMS
(a) Database Management System
(b) Data of Binary Management System
(c) Database Management Service

(d) Data Backup Management System

6.  Which of the following is keyword ?
(a) Size (b) Key
(c) Jump (d) Switch

7. Which feature of OOP indicates code reusability ?
(a) Abstraction (b) Polymorphism
(c) Encapsulation (d) Inheritance
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PART -1
1 2@ 9 Q190 €218 ago®HrIeNs 5 af)INOTIM DCMOHAY®)d:.

1 capoad afl@o. (B3x1=5)
CWQ®)o  EOM@RAHUMAV)  HoalRSOICLIHH M@H)MTIM  B®  WleeaIaTy’
DalcoUIlan)aN) ?

(a) Input device (b)  Output device

(c) ALU (d) CPU

80 CalPaVEM@3 Hoall)501008 628 H2CIWIE3 DUBOSHISIIAM).

(a) RAM only (b) ROM only

(c) Both RAM & ROM (d) Cache memory

CPU agyam@

(a) Control Processing Unit (b) Central Programming Unit
(c) Central Processing Unit (d) Control Programming Unit

2638emMIBWIE B0}  Hotalem@@d  dlanle  aegoamieelss  allalosndd

aLEUABNANGY £1)6)S @6,

(a) Flash memory (b) CMOS
(c) Port (d) Bus
DBMS agan@ieng aydemoalo

(a) Database Management System
(b) Data of Binary Management System
(c) Database Management Service

(d) Data Backup Management System

@969 @aNIAlENM AUV @3 HlCAURW aB@06rm ?
(a) Size (b) Key
(c) Jump (d) Switch

OOP 6@ afllea9al@d eaoaw dlayarvenileldl m@3@) @ o3 ?
(a) Abstraction (b) Polymorphism

(c) Encapsulation (d) Inheritance
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8. Which of the following bind data and associated functions together ?
(a) class (b) array

(c) structure (d) enumerators

9.  Polymorphism is achieved through

(a) Inheritance (b) Poly programming
(c) Encapsulation (d) Overloading
B. Answer all questions from 10 to 13. Each carries 1 score. 4x1=4)

10.  Which among the following doesn’t come under OOP concept ?
(a) Data Hiding (b) Message Passing
(c) Platform Independent (d) Data Binding

11.  Which header file is required to use file operations in C++ ?
(a) stdio.h (b) conio.h

(c) fstream.h (d) iostream.h
12.  Which of the following character is used as modulus operator in C++ ?
(a + (b) *

(o / d %

13.  Which of the following is not an output device ?

(a) Monitor (b) Printer
(c) Headphone (d) Scanner
PART - 11
A. Answer any 2 questions from 14 to 17. Each carries 2 scores. 2x2=4)

14.  What is MICR ? Which industry is the primary user of MICR ?

15. What is a register ? Name any two registers.
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8.  ®ooy @MAlemmmaliel cwg®le MIMWa]S aNeBaHMBIV) B0la] Cal@or

WIROIM@ aG@®o6rn ?

(a) class (b) array
(c) structure (d) enumerators
9.  caogleaodatlavo OOGQIGBN)IM® £1)OSQI6M.
(a) Inheritance (b) Poly programming
(c) Encapsulation (d) Overloading

B. 10 my®@3 13 Q160 af)Lld GaldBIEBURGN) OMOOAYI®)D>.

1 capod afloo. 4x1=4)
10.  @20¢ @amladlaeenamallcd OOP &emavaidl@d 9u36@9HISBOCH® aB® 7
(a) Data Hiding (b) Message Passing
(c) Platform Independent (d) Data Binding

11, C++ o1 a0@@8 630a]|C0aHMBAVIM oB® Ha0W@ nNW@3 GRS @RIV IMBR ?
(a) stdio.h (b) conio.h
(c) fstream.h (d) iostream.h

12. @09 ©mMldlenmm &Popo)eales, C++ @ ca0aw)rIay 80ajc0gd @R
DalcOUENM® aG® ?

(@ + (b) *
) / @ %

13, ®26% ®@amldlenmmaldles 85a1)5 WlHOHAITV GREOCH® aB® ?

(a) Monitor (b) Printer
(c) Headphone (d) Scanner
PART - 11
A. 14 0)@@d 17 190 a1l ago®éslele 2 af)dRovImn DCMOOAY)®)D:.
2 capod alloo. 2x2=4

14.  MICR ag)Mmo@ ag)a® ? af@®} AIQUIALI® caaleIl@d @ryem MICR (@1owomaow)e

DalcoUilanmm ?

15, o=lqud ag)amO@3 af)a® ? aBe@;leNo 06ME) AECIVYaVINNg CaloO9)®)D .

SY-55 5 P.T.O.



16. Define the following :

(@)

Acces

s time

(i1)) Seek time

17.  What is SMPS ?

B. Answer any 2 questions from 18 to 20. Each carries 2 scores.

18. What is a database ?

19. What is a constructor ?

20. What is Polymorphism ?

A. Answer any 3 questions from 21 to 24. Each carries 3 scores.

21.  What is an output device ? List any two commonly used output devices.

How is it different from a primary memory ?

PART - 11I

is a Cache memory ?

is wordlength ?

Explain the following terms :

Intel 915 D Micro ATX
10/100 Mbps NIC

2 x2=4)

(3 x3=9)

0y

(0))

)

0y
Oy

24. Rewrite the following code into its equivalent C++ statement using conditional

22. (1) What
(ii)
23. (a) What
(b)
(1)
(i)
operator.
if (
{
}
else
{
}
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rem==0)

cout << “even”;

cout << “odd”;



16.

17.

18.

19.

20.

21.

22.

23.

24.

21)QIOS OGHIS)OHIBIENMMAUES MIBALaIMo M@

(1)  Access time
(1))  Seek time

SMPS o)amo@3 ag)amoem ?

18 2y®@3 20 Q190 ¢a3iISEIG3 aBo®@ILne 2 af)INOVIM 2OMOHNY}®)cd:.

2 ¢apod afloeo. 2x2=4)

GAQGOGENITV ag)MIT3 ag)(®) ?
HNBAMRDHYB af)TNITB ag)(®) ?
Galog8lcmBarlao af)aMO@3 af)amOe ?

PART - 111
21 m)@@3 24 190 2103508 aBo®BElene 3 afIPOTIM D2OMOHAYL®)d>.

3 capod afloo. B3x3=9)

8Mgal)g AWlOATV af)MO@  of)a® 7  ALOWORMOW  DalECIUTBNIN
aBO®EIENo ENB) B3D5al)g WIOHAUTV)BHBIOS Cal® af)9I®))d.

(i)  S®YPaH OAMNA] ag)aNI@B )T ?
(i) ©@Iacl ©2mdlRIE3 TN ag)EBOM D A YTV |SICleeaM) ?

(a) cABW OLIB® af)IMIT3 af)a® ?
(b) anaies m@dsllalenanal allvddleoles)s :

(1) Intel 915 D Micro ATX
(i)  10/100 Mbps NIC

DHNElaHEM@ 300|090 DalcIUla], ®6Y ®AVIGHNAM EHOAWIM) TLAIMAIW
C++ equgenangond 20glowe)®)d.
if (rem==0)

{
cout << “even”;
}
else
{
cout << “odd”;
}

)
(0))

0y

0y
0y
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B. Answer any 2 questions from 25 to 27. Each carries 3 scores. 2x3=6)
25. (1) What do you understand by programming paradigm ? 1)

(i) Name various programming paradigm. 2)

26. Define the following terms :

(1)  Data abstraction 1)
(i1) Data Encapsulation a1
(i11) Data Hiding 1)

27. Match the following :
A) (B)
(a) ios:in (1) Open for writing only
(b) 1os::out (i)  Append to end of file
(c) ios:app (iii)  Open for reading only
(iv)  Binary file

PART -1V
A. Answer any 3 questions from 28 to 31. Each carries 4 scores. B x4=12)
28. (a) What are the two types of Printers ? 2)
(b) Give an example for each. 2)
29. (a) Compare RAM and ROM. 2)

(b) Give the full form of the following :

(i) EEPROM 6}

(i) IRG 1)

30. (a) What are the steps involved in the execution of an instruction ? 1)
(b) List out name of two processors. A3)
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B. 25 my®@t 27 1600 ¢a1683mnSEla ago®@lels 2 agaPamln’ 20MOON)®)d:.

3 capod afl®e. 2x3=06)
25. (1) capWnlow) aldEIA af)MBOMENGlaf af) I ANMIUILIOGNM@ ? 1)
(i) Q@ IEBROW CINWIMIoUY IO MBHBIOS CalOOY)®)d . ?2)

26. @96 @IMIAlBNIM ESoVIM MIBAUaIMo M@

(i) Data abstraction (€3]
(i1) Data Encapsulation a1
(i11) Data Hiding 1)

27.  Gal@)palS] Cal@He)s :
(A) (B)
(a) ios:in (1) Open for writing only
(b) 1os::out (i)  Append to end of file
(c) 1os:app (ii1))  Open for reading only
(iv)  Binary file

PART -1V

A. 28 2)@@3 31 Q190 ¢alBiIBSEIGE aBo®BIEe 3 ag)INATVIM DOMOOALI®) M.

4 capod afl®o. Bx4=12)
28. (a) e ®OOILNES (N1030)HU3 Rl ? 2)
(b) ®26EOMMIAM)e B0} DBIAOBEMO af)P)®)d. ?2)
29. (a) RAM 90 ROM 9o ®00®2 0 6)210))b. )

(b)  2nAIOS OB05)OBNTBNMAIWIOS al)B6MN )alo af) PN :
(i) EEPROM @
(i) IRG @

30. (a) &0) DWBORSUB alDHYNS O2IQIEMIORB aBO@INSD OIV{lLNOS HSAM)
Galdd)am) ? 1
(b) agom®ILI0 2 GEIDAVAVOYBHBINS CalHOP)®). A3
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31.

32.

33.

34.

35.

36.

(a) What are different types of data model ? Explain. A3)
(b)  Which of the following is not an example of DBMS ? 1)
(i) MySQL
(1)) Microsoft Access
(ii1)) Foxpro

(iv) Google

Answer any 1 question from 32 to 33. Carries 4 scores. (1x4=4)

Differentiate between entry controlled loop and exit controlled loop. Give an example
for each.

(a) Define a class box with following members : 2)
data members : length, breadth

member functions : getdata( )

display( )
(b) Whatis a friend function ? 2)
PART -V
Answer any 2 questions from 34 to 36. Each carries 6 scores. 2x6=12)

Specification of a computer system given below. Explain each term.

Intel original MBD, Intel core i3. 8GB DDR, ITB HDD, 1PP, 2SP, 4USB,
10/100/1000 NIC.

(a) What is object oriented programming paradigm ? What are the characteristics of
OOP ? )

(b) Differentiate between object and class. 2)

Define Inheritance. Write any four forms of Inheritance.
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31.

32.

33.

34.

35.

36.

(a)  QI@IIVEBIOW QI CAOWMAV aBO@INGS ? AflKdEld:B106)M. A3)
(b)  ®@oey ®@aMldlanMmaiwicd DBMS @oejoam@ ag@ ? 1)
(i) MySQL
(1)) Microsoft Access
(i11)) Foxpro
(iv) Google

32 2)®@3 33 Q160 ¢a103EBFIE3 aBO@ 1Ll 1 M CMOOAY)®)d>. 4 GAPIA.

A1x4=4)
af)B(S] SHEMESOUBAW” Lljajlo af)dplq HEMESOWBAW’ Llajle @22lenss Aly@OIVo
af)9)®)d. 6306EIATIM)o 630)B32a006Mo AflMo M @)

(a) anaIesS ©BOS)EWIGBNAM  AREMNIYIV  Dalec@OUfla] box ofaM  GHoqy'
AWee)nNd 612 IQNd> : 2)

data members : length, breadth
member functions : getdata( )

display( )
(b) (AN aDoWaHB af)aMIDI af)a® ? 2)

PART -V
34 2)®@3 36 OO €134 aBO@BIENC 2 afINOTIM  DOMOOALI®)d>.

6 capod afloeo. 2x6=12)

Poal)§8 ailquomlond eaRMladleaneum® 21)QINS OBISIOTIBIENMM). BOCOO
esm)o aflvodlo@lon)d.

Intel original MBD, Intel core i3. 8GB DDR, ITB HDD, 1PP, 2SP, 4USB,
10/100/1000 NIC.

(a)  eminRag BdlMAW EEIWIAlY) alddUlo af)IMIG oD ? BOMIRDHY

63001@0@(11)"(3@0(@0@@16)0;} (0IC® DD DHUB af)eIe]o0 ? )
(b)  @onIRBQYI0 HOVI ®AIENSS Q1@ PAVEBUB Bl ? Q)

gDMBa0dlgmBay’ M0l lee)d. ~RO@BILI MIL) @OATIENSS sHMBa03IgAsaY’

aflvodlaalan e
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